

SRI VASAVI COLLEGE, ERODE.

(Affiliated to Bharathiar University, Coimbatore.) (Re-Accredited by NAAC with 'B' Grade)

INTERNAL QUALITY ASSURANCE CELL

CRITERION IV – INFRASTRUCTURE AND LEARNING RESOURCES

4.4.2 - Support Facilities

4.4.2 - There are established systems and procedures for maintaining and utilizing physical, academic and support facilities - laboratory, library, sports complex, computers, classrooms etc.

		Sodium h		Wise and	,		
7		(2020.	2021)				
	5.00	Manne Of the Supplier	value	Receipt	spaning # acc	Closing	1
1		stan scientigic					-
1		Erage - 3	1 tons	500m)	===	5000	,1
1		98428-20064			-		
+		Invoice .93.		T	i leterile		_
1				H.O.D.	of Costume		
1				Sa Vacavi	College, S.r.	•	
1				Brode	- 638310.		
1				1			
+				-		_	
+			-	+	-	-	
+							_
+		-	-			-	

Principal, principal, ori Vasavi College, ERODE.



	(2020- ;	(021)	1	1	
3.10	warms of the supplier	value	p peolpt	openin	Closin
121	10, opphotol agrant	10000	500m)	star	500m
	Involce 93.				
	21110168-43.		8.0.b. of	Costum	
1			Design and	llege, S.	F.W
-			Frode - 0	383100	-
		1 - 1			
			1		
-					
. 1					

SNO	Name of the supplier		varue	Quan	ity	Rem
		Date	2.5	OBDRIGA	Oppin Clasia	
1.	Sai 190 trodos			- der Aus	stre ste	
-	36/448 JKK Road -2	-	15	500nl	- 500ml	-
	B. Kerarapalayan					
	- Trouble			71	Jey 12	
		1		.O.B. of	Cosmo	
			Sri	Vasavi Co	Hege, S.F. W	
				Brode - 0	991685	
		1				
			1			
-			-			

TRUE COPY Principal, Sri Vasavi College, ERODE.



Hydrogen Peroxide [2020 - 2021] Name of the Suplier Remo Invoice Value Quantity NO & Receipt Opisto Clisto Chemico Glass & Scientific Company 970 184.00 500 m 500ml ()X 29/2, Gandhipuram 1st street, 14:3.17 H.O.D. of Costume Thirmagor Colony, Erode - 3 Design and Fashion Sri Vasavi College, S.F. V. Brode - 6383164 2. Sai rao traders. 36/44-B JKK-Road-2 25 350ml 35001 B. Komasapalayan 638183 M.O.D. of Costume Design and Fashion ver vasavi College, S.F.W. Brode - 0303104

638 316 mm

TRUE COPY

N 3 among the principal,

Principal,

Sri Vasavi College,

ERODE.

Sri Vasavi College Staff & Students' Co-op. Stores Ltd., P.E. 5.

Vasavi College Po. ERODE - 638316 12 Date 9/12/2020 CREDIT BILL No. 2437 Amount Particulars No. initro Benzer 438 616 204 -Naphol Phenolphalein pourdon 218-288 Ferrous Rulphide Stick -1011 189 133 Bicarbonal 20 40 -83 -10 830 120 -277-1X50090 468 -936 Sodiam hydroxide Pellets 156 1000000 1560 PHOSEU FOR PAYMENT FOR RS Total 8206 to Principal Rupees Eighteen Entered in Much Regin Ps: 18206fthrowand two hundred Secretary.

SRI VASAVI COLLEGE, ERODE.

ELECTRICITY CONSUMPTION CHARGES FOR THE YEAR 2020-2021

DATE	PARTICULARS	PERIOD	AMOUNT Rs.
18.05.2020	Electricity bills	Feb. '20 to March '20	1932
26.05.2020	Electricity bills	March '20 to April '20	9949
01.06.2020	Electricity bills	April '20 to May '20	6022
07.07.2020	Electricity bills	May '20 to June '20	5107
04.08.2020	Electricity bills	June '20 to July '20	5578
10.09.2020	Electricity bills	July '20 to Aug. '20	4052
06.10.2020	Electricity bills	Aug. '20 to Sep. '20	3760
05.11.2020	Electricity bills	Sep. '20 to Oct. '20	4563
08.12.2020	Electricity bills	Oct. '20 to Nov. '20	5408
18.01.2021	Electricity bills	Nov. '20 to Dec. '20	8050
01.02.2021	Electricity bills	Dec. '20 to Jan. '21	8718
	2.5	TOTAL	80535

Total Electricity	Concumption	Charges	for the	Vear 2020-2021	: Rs 80535 00

50% Electricity Consumption Charges to be Met from Science Fees amount Rs.80535/2 : Rs. 40267.50

[Rupees Fourty thousand two hundred and sixty eight only]

Rounded as

PASSED FOR PAYMENT FOR RS 40,268/-

Principal Sri Vasavi College, Erode.

: Rs.40268/-

Sri Vasavi College Staff & Students' Co-op. Stores Ltd., P.E. 5. Vasavi College Po. ERODE - 638 316

REDIT BIL	L		Dato 26/3/2021
gl Er	ole		
	Qty.	Rate	Ps. Amount Rs. Ps.
75 8	10000		390
		100	
of Sy			
			576 6
1			700/
			570-
		11/6/2	660
	0 1	10	1920-
			3000
	5000		850
			6200
			934-
1	-0	1	
	1	-	
Rs 12370	1-		/
	al al		10270
			19/0
6 mount	1 and	Corps	theo to

		Kor A	ronder iry.
	298 E3 100 1k 100 1k 100 1k 100 1k 100 2k 210 2k	-75 2x5cogm -100 1x5vgm -100 1x5vgm -100 1x5vgm -2x5cogm	298 Erock Qty. Rs. 100 1800gm 196 - 100 1800gm 846 - 100 1800gm 288 - 210 2820gm 288 - 230 2820gm 350 - 230 2820gm 285 - 230 2820gm 350 - 2450gm 285 - 250 2850gm 350 - 250 2850gm 350 - 250 2850gm 285 - 270 2850gm 285 - 2850gm 285 - 2850gm 285 - 2850gm 285 - 2850gm 480 - 2850gm 487 -

Sri Vasavi College Staff & Students' Co-op. Stores Ltd., P.E. 5. Vasavi College Po. ERODE - 638 316

	No. 2498 CREDIT BILL Date 29/3/2021					29/3/2021		
	Го	The principal						
1.		855 Vasavi Colleg	26	trade	A			
	SI.	Particulars		Qty.	Rs. Rat	e Ps.	Amount Rs. Ps.	
1	1	PH Sindicator paper	121	2005.	264	-	528-	
	3	Phonosphihaloin	119	JX (REM)			342/	
1	3	Chloroform	24	K Soom	1/0		3374	
	4	fehling dolution - A	57	1×500 m	283	_	283 =	
11	5.	fehling Solution-B	58	(x500 m)	478	-	478	
	6	Soding Solution	80	(croom)	563	-	5452-	
		Nitric Acid	110	(coom)	285	1	285	
	7	methyl orange Indicator	98.	2×125m/	128	1	250 7	
	7.	Potassicem Hydroxide Ble	102	1×5009m	290	-	290=	
	a	Potatium todate	124	Kloopm	1432		1432 -	
1		Starch	148	(x 6008an	593	1	192 ~	
1	2	ayline	176	1530m	327	_	327 ~	
1	3.	Brush Kongent	29	0 N. 25m)	91	_	182 -	
1.	8	Acobocormine	3	(x(eom	656	7	656 ~ 1	m
	r.	Stomdard flack loom	259	2000	167	_	2004-	
1		Nordord flask 200ml	10.5A	ros	276	١	1380-	-
1-		Hemocephometer	277	AME	1805	-	72206	
					1	1	00/01	
		Hop of Zeology		in conta		C	17150-	
Ri	ape	es lever page No the stock register			,	4	Pay and	
***	(PASSED FOR PAYMEN	N 7	17,150			mormofai	į.
	3	0[03]21.	Principal			Secre	tary.	

Sri Vasavi College Staff & Students' Co-op. Stores Ltd., P.E. 5.

Vasavi College Po. ERODE - 638 316

		rege ro. Live		Dart	26/3/202
Na	2497	CREDIT BI	LL	Litari	
2.462	The Principal				
To	Si Valar	(slege.			**********************
SLI			Qty.	Rate Rs. Ps.	Amount Rs. P.
No.	Particulars	100	-	400 -	2000 -
	7.86:rt	(120)	1	300 -	3000 +
2	9.9. Bat	(25)	10	1 1	100 6
8	Crictet Ball	and the same of th	1,-	100 -	1700 -
4	Shreffle Racket	(16)	1	1700 -	100=
7	Linky gril.	(66)	1	100-	1400-
6.	Thriv Kall	(18)	2	700 -	320-
9	Basket Ball Not	166	4	80-	
2.	Physic Racket	-	1	1000 -	1000 4
2	Shoethe Kit bog	(8-119)		180 -	6 80-
	V			-++	
1				-	
1					(44)
1		-	. 0	r 1 1	110/
	100 Page 1910 Per 840	Crame	99	ports fresale	- /
.0	THE BOX TO POST OF THE PARTY OF	PASSED FOR	FAYMEN	FORRS 10,80	0/-
-	Strains -			NA	
-	000		H	Principal	
+	1 100	N(SG)	7. 19		1.0
			Total		10300-
tupee	The Kowand I'm	ce hundr	mg 06	17	
infec	1.		***********	/	
				(-)-	mole !
				Y Secretary	

Sri Vasavi College Staff & Students' Co-op. Stores Ltd., P.E. 5. Vasavi College Po. ERODE - 638 316

Vasavi College	Po. ERO	DE - 03	0 510	001010-91
No. 2492 CRI	EDIT BIL	<u>L</u>	Date	23/3/2021
To The principal				
Si valavi Coll	lege	Goods		Amount
Sl. Particulars	P.No	Qty.	Rate Rs. Ps.	Rs. Ps.
No. Shutte Bat	66	12	575 -	6900 2
2n sheette cock Box	69	3	483 -	1449 6
3.11 cricked bat	29	6	1725-	10350-
An yogg mat	213	10	334 -	3340-
Son Crickel Ball	25	36	170 -	6120
by Batting glove	36	4	520 -	2080/-
The Kesping gloves	32	1	1040-	1040/
an Batty pad	39	7	980-	68602
9.1 Holmat	223	2	820-	1700 -
101 quard	43	10	92 -	920-
11. Basket Ball	6	10	490 -	49002
121 Batmmton Not	61	2	690 -	1380=
13 / volley Ball Net.	55	2	1265-	2830/~
	The state of the s			
March 1864 Carlotte Seat Seat Control	PASSED FO	B EAVAG	NT FOR Rs 4	15691-
March Ages and the march of the second		A PATINE		15011
The second secon	1		Principal	- /
Many to plant		- 4		100-10
the sex service hears of and	MESH	Total		49569 -
Rupees Forly have Thompson of The	hand EGE	South	hui ou	7,
		a Para	/ Secret	romp.

Sri Vasavi College Staff & Students' Co-op. Stores Ltd., P.E. 5.

Vasavi College Po. ERODE - 638 316

No. 2491	CREDIT BIL	<u>L</u>		Date	23/3/20.	21
To The prince	pal					
8ri valavi	College	Erca				
Sl. No. Particulars	1 ND "	Qty.	Rate Rs.	Ps.	Amount Rs.	Ps.
1. Tit bag	249	2 ms	1573	-	3146	_/
24 Weighing Machine	111		1380		1380	1
7 34 Starting Block	189	4	1331	-	5324	/
An Toning Teche	234	2	545	7	1090	/
5 M Discuss Throw	191	2	787		1574	-
by Javelin	208	2	910		1820	1
74 Shotput	177	lobe	97		970	1
Sy full Bar	208	1	1825	,	1825	
94 Cricket Not	30	2	3220	_	6440	
lon Balminton Rost	9	1	3450		3450	-
11 / CONE 18"15"	117	16	184		2944	1
100		43			0174	1
		100	10.90			
	100					
- 100 May 100	PASSED FOR PAYM	ENT FOR	99	91-	1	
Section Andrew Prof.	TAS TABLE	NA.	Rs du	16	/-	
7/2/4	_1st	Print		-		
Market Carlotte	1	G	Par	\dashv		
and a second	MESH TION (SG)	T				
		Total			29963	_
Rupees Tirenty exire the	by M	ae h	inh	40	Jung	
Spine .	/			M· A	mmofai	